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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

It'f" denotes the ratio of the number of nuclei decayed (N ;) to the number of nuclei at t=(
(N;) then for a collection of radioactive nuclei, the rate of change of ’f" with respect to time is

given As!

[\ is the radioactive decay constant]

Options :
) —de M

2. he™M

o Ml—™
, —=xll—e™™

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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'f* agyma mojadaléeyme eontimo mosalley mygla’ (N,)-@jo mygld t=0 (Ny)
ag)™m GoCUMLAVIYER MAIVDIAS AgeNQL|R0D)ER @aMjalomaoen. atalodd 6o} dygo
condiewo modglal mglomdas f’ ad, maoaem edmniadwias nogomed

tflods’ ®oe9 aaosjeldanymuala agmoen ?

[ aoulewo @agglal eunoatism qudicoso @pe |

Options :
ke

2. he ™M

, Al—e™M
e

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Young's double slit experiment, if the source of light changes from orange to blue then :
Options :

: the intensity of the minima will increase.
, the distance between consecutive fringes will increase.
, the distance between consecutive fringes will decrease.

the central bright fringe will become a dark fringe.
4,
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
630} oar cwenlled i (stit) aeleemimrlad ) (wisocandad oonllso (source) gooaml

(gounordlad odlerm” afleioon] @ooymy ageiad
Options:

, dlofla@es (minima) @li® aldallengo.
, Gaoemailéyglarl adlidemimile aieo aldallenjo.
, G0 milepglal (adlademimilang aioo #0@yo.

DADJOBIOA (ldbotd aljtlmao® (Bright) (adldem’ Mojme (adlademileelds

, ldicudamno eougymy

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The relative permittivity of distilled water is 81 The velocity of light in it will be :
(Given p, =1)

Options :

, 3.33x107 m/s

, 4.33x107 m/s

107
3 0:33x10” m/s
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107
4 2.33x10° m/s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
maalonmsyen (distilled) auggmiad aeoiads aoidddlald (permittivity) 81
@A, agimoad g0 exuggmiad (wisocemlang (e (velocity) ag)m mowidan)o ?

Options :
7
, 3.33x10” m/s

7
, 4.33X10" m/s
, 5.33x107 m/s

7
4 2.33x10° m/s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R=1000

N WW

100V T C=1uF

A capacitor of capacitance C=1 pF is suddenly connected to a battery of 100 volt through a
resistance R=100 .. The time taken for the capacitor to be charged to get 50 Vis :

[Take In 2=069]
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Options :
;. 0.69x107 %5

, 0.30x 10" *g
;3 1.44x107 4 s

4 333X 10 s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
R=1001
N WN
100\% T C=1pF

a0} dajomint C=1 pF aalago 100 V 968 &) ciopdlwjaoe] R=100 ( 9es 80)
(aaflanodo 9o iewoud.af (Resistance) caislfanimy. dajomigcid 50V alodes eyasd
af)SIAM DR :

[Take In 2=0.69]

Options :
;. 0.69x107 %5

, 0.30x10 %5

5 1.44x107% s

,
gcollegedumag
||||| 's largest Student Review Platform



4 333%x10 s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A 007 H inductor and a 12 () resistor are connected in series to a 220 V, 50 Hz ac source.

The approximate current in the circuit and the phase angle between current and source

voltage are respectively. [Take 7 as ?]

Options :

8.8 A and tan_l[%)

0.88 A and tan ! [%J

88 A and tan_l(%]

_1( 6
8.8 A and tan —
a [11)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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0.07 H allgymd oo (inductor) 9o 12 & (ulefieeowdnnjo (Resistor) 60} ac aruodtiiad
988 80} tjosual 220 V, 50 Hz ac a(mommiad aaiclaflafldlanmy. agmodd mopy
adosiemlalagymaula agmoa winohao afdeso Mibdglelss dodo,

aanaymlnswlo erodmilad snodagglmo osuings sm @ould gl

mojalaflamjomal. [moaim 7 = 27—2]

Options:

8.8 A, tan ! [%)

0.88 A, tan_1[%)

88 A, tan_l(%)

(6
88 A, tan | —
(11)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A light cylindrical vessel is kept on a horizontal surface. Area of base is A. A hole of cross-
sectional area ‘a’ is made just at its bottom side. The minimum coefficient of friction necessary

to prevent sliding the vessel due to the impact force of the emerging liquid is (a << A) :

Options :
A
1. A
2_a
2. A
x4
3 2a

4. None of these

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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&} el (melono 6al0]5i88 60} €0 dioamm rielmednd saiqm. oalad
oenam alndldemo agma’ A eodymy. oo agaie 89 ‘a” adeglengs
6/ovo 96, el aljommyuaim BOUBTINY RamlwIG B ald®@o emil

alemonmaildlanimalin’ eouwR0 agfae d06mm aidaem audeosho (a << A):

Options:

a
‘I.A

4 (B[II(O%%:IOSTWO_I e RO IAL]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In the given figure, a battery of emf E is connected across a conductor PQ of length I and

different area of cross-sections having radii r, and 1 (1, <,).

_|__

[

E K

Choose the correct option as one moves from P to Q :

Options :

: Drift velocity of electron increases.

» Electron current decreases.
3. Electric field decreases.

4 All of these

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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m06¢ adosjmilgies olmenld mlgo T @© emf E 988 copal, PQ agm
2108000 seisinlafidanymy. adegiammlad) amé eonsmgoa eaoor, gor,

<1} 90 e

P i el Q eeucee) aooymaimmmudlo] mos aaosyerldasomuead aflm cdlwow
OMN0 HONAATDSIODE)dh
Options :

, EDAIBESOAMIONG (IGAIM (AIGAINO dhiSlo
, EDEIBGEENTIOM HOMG &j0Wio
, 900Iey®aMUae 20QMI0e®m @ISO

4 alOammeOmEoo motﬁﬁ_ﬂcﬁ-ﬁ'}go

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two capacitors of capacities 2C and C are joined in parallel and charged up to potential V.
The battery is removed and the capacitor of capacity C is filled completely with a medium of

dielectric constant K. The potential difference across the capacitors will now be :

Options:

;
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

061 dro oin0e9S dha ol 2C wjo C o e oo umonmeaoe] sumdallaf
Anlogdayd V-ue anded o.aigymy. ewogd mlano fagswo dapriidl C @8
aaloninh oldgnaonjo e MaEle cowjaemimom (constant K) alowasym),
amod ol 8 dapmiROBRINS dOINEBW)ER Halogila® ailwame mey
aaosyeidlanymaieled agmoaidiaego ?

Options:
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, K+2
3V
. K+2

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reported figure, a capacitor is formed by placing a compound dielectric between the
plates of parallel plate capacitor. The expression for the capacity of the said capacitor will

be : (Given area of plate=A)

GG G

K| 3 5K
d- «2-e3d-
Options :

25 KED‘A
1 6 d

15 KegA
, 34 d
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15 KepA

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
069 alnoadulaflges almawld 80) dojonigd ojlaalsime saM Deid(Eld

apishamnd maomenow] mooala)ges ealpiealns msula maoallo)ndomsoa
agarlad oalles alnondulaflges dmajonigdlad dajonigl allimoe mmimdlyf
agymoeidlanio ? (eqjdlad aluidano=A)

G

K

6

G

3K

Options :

25 KED A

d

G

K

15 KegA

6

d

15 KepA

6

d
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle starts executing simple harmonic motion (SHM) of amplitude ‘a” and total energy

; o, . 9B TR
E. Atany mstant, its kinetic energy is o) then its displacement ‘i is given by :

Options :
i =
. L NG
y=a
2 2
g B3
3, 2
2. Y70

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
B0} diMo MESRIW anoteadsmlas aleimo aldqjadland mjssmymj, (SHM) ‘a

moallewos) &S (amplitude). dalan) a2ommo gudgo E. 91 @amawia o

oo aleiemodego % 6o MY MAIM(Gotko ‘Y a)M® ®IOY

aJnondedlofgeaniaid agal ?

Options :

,
1. Qcollegedumas
||||| 's largest Student Review Platform



=
I
N

y=a
2 2

g B3
3, 2
. y=a

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical tennis balls each having mass ‘m" and charge ‘q" are suspended from a fixed
point by threads of length ‘T'. What is the equilibrium separation when each thread makes a

small angle ‘8" with the vertical ?

Options:

,
Qcollegedumag
||||| 's largest Student Review Platform



2mggm-g

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

00 ‘m’ §o .al0d®8 ‘q Ho 9B 06N} WAMAW HSTTIM altm)dth 60} 90alla)
ool afemio 7 oflgo 688 alosiad adoee maslalglelanm). se) o.aclw

c0smaQl ‘0" losnicu)20@] MY M)e HMBANIEMIID HAE MMIEIN @bl

ag)®woa ?

Options:
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reported figure, there is a cyclic process ABCDA on a sample of 1 mol of a diatomic
gas. The temperature of the gas during the process A — Band C - D are T and T,
(T, > T,) respectively.

P

A

5By -

...................................

0"V, 15V, 35V, 55V, V

Choose the correct option out of the following for work done if processes BC and DA are
adiabatic.
Options :

N Fz’hfgc-l-T.fif]:)‘ﬂ,L >

, Wap<Wcp
. Wap=Wpc
. Wap=Wsc

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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omidanym afimed, 1 eaod gwoegodla aomamid ABCDA agm ao@le
(ol sy A B, C - D agm! (wigbloasgled comeamled monimla oo

T, T, K agmilcuoan. (T, > T,)

0" v, 15V, 35V, 55V, V

W@l BC wjo DA wjo maflwagle eomeld oowm @ojemlow

mojalafanjmar agamed @y adasirdldasymaiied oimy amoasmms)as.

Options :

. WBC+WDA =)

, Wa<Wep
3 Was=Wnpc

T — TAT
“F’iD_“BC

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A body takes 4 min. to cool from 61°C to 59°C. If the temperature of the surroundings is
30°C, the time taken by the body to cool from 51°C to 49°Cis :

Options :
1. 3 min.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

a0} oy 61°C @ omjo 59°C el mamyanadd 4 dlefly agsianjo. 2ljpjalosln
monlfler 30°C eoeemelad cumimynllay 51°C @b aflmjo 49°C aaiae) mamyenam agSianm
mao @yuldano :

Options :
1. 3 min.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The number of molecules in one litre of an ideal gas at 300 K and 2 atmospheric pressure

with mean kinetic energy 2107 | per molecule is :
Options :

. DB X10H

, 1.5% 10

3 33104

4 16310%

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a0} cooglayelm woond oaleaibeg 2x107° ] 988 300 K ey cae @mday

atgamileyo oga 60y elnd 6y eoadn comamlm esarluldsnm eaodaaiains
ag)eo @A,

Options :

. 08X 10H

, 1.5x 10!

3 310+

4 16X

Question Type : MCQ Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
Assertion A:  If A, B, C, D are four points on a semi-circular arc with centre at ‘0’ such

that |AB| = \BC| - ‘E)", then

—_— — = — — —

AB + AC + AD = 4A0 + 0B + OC

Reason R:  Polygon law of vector addition yields

—_— = = = —

AB + BC + CD = AD =2A0

B C

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :
Both A and R are correct and R is the correct explanation of A.

5 Both A and R are correct but R is not the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(alovmooum A: \E - E - |c_15| agm dlelaiad, A, B,C, D agem! enloyandd 80y

aodw oyemmiid s ‘0" oaamasim

—_— — = — — —

AB + AC + AD = 4A0 + OB + OC

®006mo R:  qudle mocwogm aiane)® aflwao (Polygonal law of vector addition)

aomjcondanme

—_— o 3 =3

AB + BC+ CD = AD = 2A0

)88 eaosymldlanm emimonimagies acg ojmie moay aaos)edldanymeid
aflony agyulo momjewozymowa aloaemms)ded.

Options:
A ©)o R @) vodloem A @ies rdlwow allvedlsoemaoen R.

, A @o R @) odlwoen agmond A @jes wdleow alndacmag) R

; A vodlwoem R Dlwlalelayel

. A emaoem R @O,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The figure shows two solid discs with radius R and r respectively. [f mass per unit area is
same for both, what is the ratio of MI of bigger disc around axis AB (which is L to the plane
of the disc and passing through its centre) to MI of smaller disc around one of its diameters

lying on its plane ? Given M is the mass of the larger disc. (MI stands for moment of inertia)

A

Options:
1 2R x?

5 R2 : 12

3 OR% . 14

4 215 R%

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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@LoaEao R, 1 agymmi @m0 688 083y aun (mided olmmdled aoeofldanm),
o] alialeno oenelmjo armosemeslad el wlmialen edso AB Wan) 2|ginjes
(moas g wlnfn) elosimowmyo adlnidslad awjmileyns dsmjsalodymmo @aem)
M wjo faid admislad 8oy alpmvmmimg ayjaies M wjo male)gs @mjelomo
a7 cuellw aulieslend mooy @ M’ agym mmidlagim)

(MI agyma’ 52060 Boad Mendaiow mjadaflanjm))

A

[\

Options :
| 2R% 12

3 oR% - 4
4 21t . R

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 gcollegedunias



List- 1 List - II

(a) MIof the rod (length L, Mass M, about an axis L to therod (i) 8 ML%/3
passing through the midpoint)

(b) MIof the rod (length L, Mass 2M, about an axis L to the rod (i) ML2/3
passing through one of its end)

(©)  MIof the rod (length 2L, Mass M, about an axis L to the rod (i) ML%/12
passing through its midpoint)

(d) MIof the rod (length 2L, Mass 2M, about an axis L to the rod (iv) 2 ML?/3
passing through one of its end)

Choose the correct answer from the options given below :

Options :

;. (@)=(iii), (b)-(iv), (c)-(1), (d)-(ii)
,, @)-(iii), (b)-(iv), ()-(i1), (d)-(1)
5. (@)-(), (b)-(1), (0)-(iii), (d)-(iv)

5 (@)-(ii), (b)-(iii), (c)-(1), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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el - 1

(@) eemiad MI (ngo L, momy M, cemded eossadlmy ()
elosni2o®] awyenimjallees dsmy eatoaym)

(b) eemuland MI (rlgo L, momy 2M, semuled (i)
@od@nim) elominodl BoREm)AS)

© cemded M (olgo 2L mony M, eomilad esmmndmy (i)
elosin0dl, awjniasialees dsmiealonym)

(d) eemdad MI (aflgo 2L, aomy 2, senuien sessedlny (i)
BlosI20w] BeRmDLeS)

8069 odrosorldanmafled amjo dlwowe eloaamsisoids.
Options :

. (@)-(iit), (b)-(iv), (¢)-(1), (d)~(ii)

,, (@(iii), (b)-(iv), (©)-(i1), (d)-(3)

5, @), (b)-(1), (c)~(iii), (d)-(iv)

5 (@)-(i), (b)-(iii), (c)-(1), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ey - 11

§ MLY/3

ML2/3

ML%/12

2 MLY/3

;
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Three objects A, Band C are kept in a straight line on a frictionless horizontal surface, The
masses of A, Band Care m, 2mand 2 m respectively. A moves towards B witha speed of
9m/s and makes an elastic collision withit. Thereafter B makes a completely inelastic collision

with C. All motions occur along same straight line, The final speed of Cis :

A B C
m| [2m| [2m

Options :

, 6m/s

, 3m/s
; 4m/s

. dm/s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
spitssmaipjonm e} aflecalm maiedid ajm amimgdnd A, B, C ary endecowld

cuafidanymy A, B, C agrilouwyps 200 @020 m, 2 m, 2 m agyrriememaoen, ‘A’
9 m/s clnmewons B wpps emias) alelanewlo malomilacoul &gulsen sl
a.21Qmy. @oam)euato B oljtenaowio menmidiaagiam C winodl aglalslam),
af))0 alaimaljo 8e0op emdenaialeinam msanimal. C @yHs @mla o
dnejollclan) .

A B C
m| [2m| [2m

Options: gcollegeduniag




6 m/s
3m/s
4m/s

9m/s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A'ballis thrown up with a certain velocity so that it reaches a height h'. Find the ratio of the

h
two different times of the ball reaching 5 in both the directions.

Options:

&%

_I_

>

N
P
e

N

p—t

,
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T gwoeld ogemm dalalad ey wrdon s} dlo weunmind oo

Lo | =

ag)lemmy. @ee oene) dlealayo — pwoesla agemienion Has ) Ay

MOWSTBRIHS @MaloMo dbenajallSdee.

Options :

V3 =42
. 3 +42
V3 -1
, B+1
g

3.3
V2 -1
W V241

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Assertion A:  If in five complete rotations of the circular scale, the distance travelled on
main scale of the screw gauge is > mm and there are 50 total divisions on

circular scale, then least count is 0.001 cm.

Pitch
Total divisions on circular scale

Reason R : Least Count =

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

: Both A and R are correct and R is the correct explanation of A.
5 Both A and R are correct and R is NOT the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(vmacum A : nudagjeid mism @y ltan a0dfo dosmienid Nigenesd
(odwom b leld muemudle) Gjno 5 mm go muddreiod rinamwld

50 pmoemo allegmenglo HaTS, @raBONWINMEI® Algy &oems

0.001 cm @R8N,

ally]

mianyeid msewleld pes aaxemo alegmemd

aoomoR: Sl &06E =

oyl oaxosimdlaniom (wimmonimesias s gjeid moes saosimidasimaid
afiQjo @omjcEaa wlonammse.

Options :

. A @) R o ndlooem A @es ndlwow alncksosmae R
, A @ R @ nedloem A @es wdleow afludscmag) R.

; A vdlwoem R OMEOEM).

. A e®mpoem R codloem.

Physics Section B

Section Id : 864351825
Section Number: 2
Section type: Online

Mandatory or Optional : Mandatory .
collegedunias



Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511052
Question Shuffling Allowed : Yes

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Suppose two planets (spherical in shape) of radii R and 2R, but mass M and 9 M respectively

have a centre to centre separation § R as shown in the figure. A satellite of mass ‘m’ is
projected from the surface of the planet of mass ‘M" directly towards the centre of the second

planet, The minimum speed ‘v’ required for the satellite to reach the surface of the second

planet is ﬂ% % then the value of ‘a" is .

[Given : The two planets are fixed in their position]

8R

Response Type : Numeric
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Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

R, 2R mo0sma)e8, agmod @iooidao M, IM agrm] 200 9es 068} (Da0sme}0s
(emogodnyafl) awysnlosancd malengs @adeo olimemled soemlofldagmensse
8R me. ‘m’ 20MeR 80} Hal(®ado M’ 20me8 (el olon erconsmm

(wanrla awjo i allsselenym). casonaem (eoear (wmaimmd

agyone.joymalay pallanmla’ eRAIRR0W (et 7, ;%m@em ol

2 s alla @ . (@esyom aljbemmosuyelad) ((wanemdd mmsmsyrgy
g™ 0y}
8R
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1
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a uniform magnetic field, the magnetic needle has a magnetic moment 9.85 x 10 -2 A/ m?

and momment of inertia 5% 106 kg m”. If it performs 10 complete oscillations in 5 seconds
then the magnitude of the magnetic field is mT, [Take 7 as 9.83]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
80, afd®mIn omle oM@ omle mjale domle AnIead

985x1072 A/m’ 9o 62092 Bond ematy) 5x 10~ kg m? o @van). moat 5 s
Ad0ams 10 eBoamamd msemymy aglad domila aanvelemladd aidaosmo eoer

mT,

[r032im % as 9.85]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A stone of mass 20 g is projected from a rubber catapult of length 0.1 m and area of cross

section 107 m? stretched by an amount 0.04 m. The velocity of the projected stone is
m/s.

oung’s modulus of rubber=05x10° N/m?
&

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

20 g a0 988 60} drglom 0.4 m el olelgy 0.1 m ofigao eansmel almiidgno
1078 o 9o 98 60} 06D oo ooy alleatalay, lleasilanns delon
(G0 m/s @A, (aljbam moay) @l ageious.) (Osydlad wedn
eoouamy’ =05x10° N/m?)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Correct Marks : 4 Wrong Marks : 0

A transistor is connected in common emitter circuit configuration, the collector supply voltage
is 10 V and the voltage drop across a resistor of 1000 2 in the collector circuitis 0.6 V. If the
current gain factor (B) is 24, then the base currentis _ pA. (Round off to the
Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
&} (somdmilgyd edonem agaln® ceismald caislallafidlanimy. edosyamlalanm

ealordes® 10 V go 1000 ) (alaflerowniim) di0ndwes ¢awoal 0.6 V do @mem. &0

60U a00dsd (B) 24 EROMEBIM, CoIN BOE @M
al)demavoswlad)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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A prism of refractive index n, and another prism of refractive index n, are stuck together
(as shown in the figure). n, and n, depend on A, the wavelength of light, according to the

relation

1081074 18x 1074

n =124 7 and ny =145+ 7

The wavelength for which rays incident at any angle on the interface BC pass through without
bending at that interface will be nm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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maloibenm maloomo n, 988 6} (almcujo n, 688 20QI} (allmco mad

cwoefloflay) (ealad g afdanim euoea) n, go n, o MronpAADL \ OO
BRG] ldanm

-14 ~14
10.8x 10 =145+ 1.8><10
\

m =12+

BC @b agym) eaoempallayo alelanim evidled @y oddeanmiod cinwonm s

clodjmmonmid 9as moonenadoalo mowldan)o nm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle of mass 9.1x 107" kg travels in a medium with a speed of 106 m/s and a photon
of a radiation of linear momentum 10=% kg m/s travels in vacuum. The wavelength of

photon is times the wavelength of the particle. Qcollegeduniag



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
9.1x107%! kg momy 988 80} demla 6oy nowjaEmlayes 106 m/s GINMEINS

O(e.2YIM}. iS00 eeallw @do 10~ ke m/s §ap &) all#loam eanoegoend
meulayaswlo Wom ey caniegiaaniul ®monanadoao demlewes

mmowam@ﬂ%mhr@ MSERIA),

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radioactive sample has an average life of 30 ms and is decaying, A capacitor of capacitance
200 uF s first charged and later connected with resistor ‘R'. If the ratio of charge on capacitor
to the activity of radioactive sample is fixed with respect to time then the value of 'R’ should

be (0,

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
80} condlewo maaslal momlglm weonel M@ 30 ms DL &)Soam @m

6ot joroaneldlanimy. 200 uF dajorinddouies 6my dajomind @asj alodg
a210mam; exeto R’ (aieenowayoou caiglafa)). dajomindiaer andegjo condews
modslol momlidlad eoesialdlole maleysy mmjuomoe mawmslnmimdy)

OITmmoeeMEI@ ‘R ar@; aler moeldassmo 0,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In Bohr's atomic model, the electron is assumed to revolve in a circular orbit of radius 0.5 A.
If the speed of electron is 22X 105 m//s, then the current associated with the electron will be

2
X102 mA. [Take 7 as 7]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

esnclon @oegodlé: caonueld aesosd 0.5 A mpnjes A0) aloilé (@asmalnemd
al6ldaamo 6.a1gmMm®I dojOReSIM). BasESITa] eain® 22x10° m/s

moaem@lad  meikesomeow] caidemy alowoym &0 @l

2
X10~2 mA. [ (0}ai 7 as 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Consider an electrical circuit containing a two way switch S', Initially S is open and then T,
is connected to Tz- As the current in R=6 () attains a maximum value of steady state level,
T, is disconnected from T, and immediately connected to Ty, Potential drop across r=3 ()
resistor immediately after T,isconnected to Tyis V. (Round off to the Nearest
Integer)

R=60 T

[ 1

2, .T3
S1T,
L

q |0

3()

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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&) elISlanm mudaysid na) conemmanio @oaaim milaf ‘S game. mysanmild
S ojoidanymy dysoem T,, T, 20w sniculafafdlagymy. R=6Q 6al o aloaoniu]
el mudlom eadaidlajealod T, T) @ ol cudasion] gsom mam T, a0
ool T, T, 00wl ennlaflajeniold sem r=3 O o drj0j9e 988 falogiaysd

¥y mpan V. (aldammosjolidd)
R=6() TZ. T,
51T,
L

3()

6v] i

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The amplitude of upper and lower side bands of A.M. wave where a carrier signal with

frequency 11.21 MHz, peak voltage 15 V is amplitude modulated by a 7.7 kHz sine wave of

d

b a
5 V amplitude are ﬁV and EV respectively. Then the value of N is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes .
collegedunias



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
7.7 kHz mooyymmlwje 5V allas) ecuodegamlo 988 o moono adbise AM.

eoonujsely faiwm 11.21 MHz eoayeiwjo, 15V alles) crdeszlo pag o) dodwd

a.. b

oan0mled dbjSlmyo dOAmmMR0W eamy sl omal oo ﬁV, EV

agMlcuoan’. ag)eld % -Q)ps llaiwogn .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Chemistry Section A
Section Id : 864351826
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
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Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511053
Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The parameters of the unit cell of a substance are a=25, b=3.0, c=40, a=90°, p=120,

y=90°. The crystal system of the substance is :
Options :

1. Triclinic
I—Iexagonal
2.

3. Orthorhombic

4. Monoclinic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&) aisodioead @l emglan ceolpois®d a=25,b=30,c=40,a=90°, p=120"
y=%0° oo, @9 alaaino agy! @i milnigardid gddaatsym ?

Options :

. 66 (S il
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5 6)NE: VUM @D
5. 6300CEmOCOcMIlH

@marssma@nﬂoes’
4.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I :  Rutherford’s gold foil experiment cannot explain the line spectrum of

hydrogen atom,

Statement I Bohr's model of hydrogen atom contradicts Heisenberg's uncertainty
principle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
1. Both statement I and statement II are true.
, Both statement I and statement II are false.

3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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06’ (uIyocmddd @y aeosymidlanm),

(agocuen T2 ogladeanodadlo mydepamals aidlasenamle’ oeaowRDd
mpoalof eead waadiso (seanideneog) alweladlenon
a¥lallg)

(qpocum 112 dan(wed @pemled eanod nomidoo, danwmdasudolladg

aonfuallmmjmeniule alominio Aleyanaos.

oyigldd ados)emlalanm (moimagins svglojemla moey maalaldas)m
aomaglad oo agpaye poflmaw gemeo aloaamms)ses.

Options :

| 8MONeEM®o AMNBOAOEMW0 (IMOAMSUD KEl@oe.
, BMONOEM®o AEMBONOOMWL0 (LIPOAUIMED H®R0EM.
. MDA (oiopocim cadiwjo, agMmOEd EARAAM (IRON SRIN08.

. BMOean (qpoci amglo, agimod asronemm (ipocim todwjnoeny

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For a reaction of order n, the unit of the rate constant is :
Options :

. ]1'1(}11_“ Ll—n 5—]

, moll ]l ng

;
gcollegedumas
India’s largest Student Review Platfori m



3 I‘ﬂ(}ll_" L211 5—1
4 I'ﬂ(}ll_n Ln—] S—]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gotawd ‘n' @aw 60} udemmnodad cog eaoedminden (o cudeosemad)
)iy :

Options :

. moll nyl—ng—1

5 - mol 2 g

3 moll —n12n¢—1

4 moll nin—1¢-—1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - II ;

List - I List - II
(a) NaOH () Acadic
(b) Be(OH), (i) Basic
() Ca(OH), (i) Amphoteric
) B(OH)
(e) Al(OH),

Choose the most appropriate answer from the options given below :

Options :

;. (@)-(ii), (b)-(), (c)-(ii), (d)-(iid), (e)-(iii)

, (@)-(i1), (b)-(ii), (c)-(iii), (d)-(5), (e)-(ii)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

;
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gl - 1, gy - [T ) G.i0)0 oS Gt
g - | algd - I
(@) NaOH () eoniuds
b) BeOH), (i) coumia
) Ca(OH), (ii) - BBOCL0RSId
() BOH)
(¢} Al(OH),
069 axidlan)om o amaglad oo agnago olman gemeo aleasmms)aad.

Options :

= (a)-(i1), (b)-(3), (c)-(i1), (d)-(iii), (e)-(iii)

;. (@)-(11), (b)-(ii), (c)-(iii), (d)-(i), (e)-(iii)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statement that is INCORRECT about Ellingham diagram is :

Options :

, provides idea about reduction of metal oxide.

5 provides idea about the reaction rate.

;
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, provides idea about free energy change.

, provides idea about changes in the phases during the reaction.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ag)efledando A@NNIMIW MIMEAIS HBRIW (ITMHOAUM aR@) ?

Options :

000 eodeemalen cecssmiaenan mosmimiaf aonwo mad)m),

, ldaudemm aflodslomen)claias @puemo Mm@y,
3 d agmded AU@PMeEDENIGLISs EBUIWO M@ELIT).

[cudammo MSAHIEMI9IER @RAIMNIIBlIBEmMOMMAN0leI88 @O

. Oy

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The procuct obtained from the electrolytic oxidation of acidified sulphate solutions, is :
Options :

, HO,S080,H

, HO,5080,H

,
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HO,500S0,H
3.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mogUeadla) mdeny enwraw aonisymalegauam sumlasmo msmiwn
eicléojom gaimo :

Options:

_ HO,5050,H

, HO,S0S0,H

HO,500S0,H
3.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion A:  Lithium halides are some what covalent in nature.
Reason R:  Lithium possess high polarisation capability.

In the light of the above statements, choose the most appropriate answer from the options
given below :

,
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Options :

: Both A and R are true and R is the correct explanation of A
, Both Aand R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. Ais false but R is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

06T (pomad moe9 adasjmalanmy,

amiam daejo A agymjo aeRATIRM dbdnamo R agrmio coaiaalsiriaidianiom)
&0 A elidlwo anopeREBR afmoRamagido e @pen.

#006mo R @ elidomnol gwdm ewtogsnoemaud edloysre.

D)8, 0S)m (lyocumegies exuslojemiad @y mvidianym eoaumdgla
aflomy agpulo H2llmaow pemeo @oaamms)da)d.
Options:

. A -©Jo R 9o nadlwosm), A -@ies rdeow afldlsoemacs R.
, A -@j R 9o cedlwoa, agrmoad A -jes dwow alledlaoemag) R,

, A codl@oem, agiamoad R &@Roem.

, A ©®QoeM, gl R vodlwosn.
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The oxidation states of ‘P in H4P207, 1-1413205 and H4P206, respectively, are :

Options :

1 6,4 and b

5 5, 4.and 3

3. 5, 3and 4

, 7,5 and 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H,P,0;, HP,05 H,P,0, agmilcuaied P’ -wjs sodinideenonioun, wlooiao :
Options :

. 6, 4, 5 ag)omilaiosm)
, 5,4, 3 agymrilai@osm
. 5, 3, 4 agilai@osm)

. 7,5, 6 agmilai@osm
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The type of hybridisation and magnetic property of the complex [1\/11106]3'r respectively,
are

Options :

. d’sp? and paramagnetic
5 sp>d? and diamagnetic
3 sp°d? and paramagnetic

2 3 . .
, d7sp and diamagnetic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[MnCL, =, agm Gdsdog)mild peanEraOLEAAMR Mo, domid rujgnlo agi

WLAd (DO :
Options:

1 d%sp?, a100mouImEles

, sp>d?, AW@OMOUIMNEI
; sp>d?, alo@OMOUIMNEes
. d%sp?, A @omoUrIMEles

,
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of geometrical isomers found in the metal complexes [PtCL,(NH,),|, [Ni(CO),
[Ru(H,0),CL] and [CoCl,(NH,),] * respectively, are

Options :

44 14

, 270,23
. 21,84

21,85

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[PtCl,(NH,),, [Ni(CO),, [Ru(H,0),CL], [CoCl,(NH,), ™ ag)rm} e eabdogrtmjnsiad

AOAMOAISIM EZOAISIENM H0g)EN0RR0BOS oo, VLA :

Options :
1,1, 1,1

1
, 2;0,2.2

. 21,21

. 21,22
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following statements is NOT correct ?

Options :

The dissolved oxygen concentration below 6 ppm inhibits fish growth
1.
5 Eutrophication indicates that water body is polluted
3 Eutrophication leads to increase in the oxygen level in water
A Eutrophication leads to anaerobic conditions
Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
®O6)Y 0SB (IMOUMBEIE wA@LOEm® afe ?
Options :

6 ppm - )06 onsmUlea caesoBMZamEIT, ammjemgies wloaw
| oSy
, @)oisondeanndd mjallafanmal oo geonwo aalnfad.ymopsmmamoen.

;. @loisndleanavary anpinow] gaimminel eomiedd @egal aidallanymy

, Qioisoadleanayery anaino aowjaligion @eaIMADSTEoNM

;
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one among the following chemical tests is used to distinguish monosaccharide from
disaccharide ?

Options :

1. Seliwanoff’s test
, Barfoed test
3. Tollen’s test

4. lodine test

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M99 aos)mlalanym  eomadleowmagld,  seumagaaaowWlam

epocemanvagnencalad afem eudaldl oJdlwomuiewondanmene ?
Options :

1 mmeﬂma@mmﬁlmr@ aldleuwoowm

5, ENIdGANA al@lGUDOWM

BSOORMEM AlBlEUOWM
3.

4. @AM aldleuoowm

Question Type : MCQ Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Staggered and eclipsed conformers of ethane are :

Options :

1. Rotamers

5 Mirror images
3. Enantiomers

A Polymers

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

E0VOLWHN RN, ag)dslaitmin demeanddennimd agmoem ?
Options :

| 9005060
e{%gﬂsm enfloenustsd

2.

N ENMOMEAHOO DO 0D

, Gal0glOn0OIEE

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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@ @
CHZ - CH CH3 — CH2 HCEC
A B D

The correct order of stability of given carbocations is :
Options :

1 D>B>C>A

, A>C>B>D

., C>A>D>B

., D>B>A>C

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®
CHy
® ® ®
CHZ = CH CH3 - CH2 HCEC
A B ¢ D

axmildlanim &obesmo H0newoemnalns mdemes elwow (@no :

Options :
| DB OsA

,
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, A>C>B>D

, C>A>D>B

L D>B>A>C

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Presence of which reagent will affect the reversibility of the following reaction, and change it

to a irreversible reaction :

i

Reversible

CH, 41 CHy -1 +Hl

Options :
1 Concentrated I—IIO3

, HOCI
, Liquid NH;

dilute HNO,
4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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oy Clewzaflad warrlanmieoen, oy adasimidanm pewdlromieomngs

(acud@mmeem agadomyeonogs (widemmnacds aopyma ?

ho

S ol peudlnodommo

= CH, - [ 4HI

Options:
, Concentrated I—[IO3

, HOCI

. (Bafldy® NH,

emdalle] HNO,

4

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following compounds will give orange precipitate when treated with

2 4-dinitrophenyl hydrazine ?

O
I\CH3

Options:

Ok
OCH,CHj
2. gcollegeduniag



OH

OCH,CH,
; O

T

C—OH
4 OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

24 -9peamasondlomaiad eaanwiiimyaed (wilwaidemlanemod sonem!

mocudlojo cidanymal moavwaaead agw) mowsmaoa ?

Options :
0
k'::H3
1.
o)
Kf:;)(:Hzf::H3
2.
3.

,
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OH

OCH,CHj
O
i
C—OH
4 OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OH

H-PO BH
PR A (BH;), ; P

120°C (Major Product) HyOy/ OH, H)O  (Major Product)

Consider the above reaction and idenﬁfy the Product P :
Options:

CH; OH

,
gcollegedumag
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i ~OH
3.
OH
f LOH
4,
Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H3P04 (BHS) N P
1200(: OJUJGm @(U%OJ(TDO) I-I202/ OH HZO ([_nJ(DO(TJ Q(ﬂ%ﬂJm'JO)

oyslenl (loudemmo aldmere] omalmo P dhangjllslend.

Options :
CH; OH

Qcollegeduma
.................................



CH;
OH

OH

OH

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I:  Aniline is less basic than acetamide.

Statement I :  In aniline, the lone pair of electrons on nitrogen atom is delocalised over
benzene ring due to resonance and hence less available to a proton.

Choose the most appropriate option :

Options:

1 Both statement I and statement II are true.

, Both statement I and statement II are false.

,
gcollegedumag
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3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
®6) (061 @Jf&)i)(’)_lmc&(fb %OS&W@&&&W&.

(ocun T @ocrlehny menfipenandiemancd esnimdmilgl doauoam

(ogocun I1': - menflefioslad damisgad @opmian meiesomd e folwohd,
oMMIBo danamo aedmild cugwenlmy awelad aleaoaaasm
0.21QbWj0 EoLMmIE 6lalesoamln ae)m d0 eI BW]o
6.21Qm)

afipQllo BMEWIRINID Bttt leaemms)de)d.

Options:

| ladaoaim I 9o II 9o vodlwoen.
, ldoalm I go II 9o 6®EIEM.
;. leaoaim I vo@l@oa’ ag)MMno@d ladapocum II exmEoe.

, eaoaim I emQo6m) Qg)(MOE? ldapocum 11 oM.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gcollegeduniag



Match List - I with List - II :
List - I List - II
(Drug) (Class of Drug)

(a) Furacin ()  Antibiotic

(b) Arsphenamine (ii) Tranquilizers

(c) Dimetone (i11) Antiseptic

(d) Valium (iv) Synthetic antihistamines

Choose the most appropriate match :

Options :

;. (@)(iii), (b)-(1), (c)-(v), (d)-(ii)
o @-(1), (b)-(iii), (c)-(iv), (d)-(i1)
5, (@)-(), (b)-(1), (0)-(iii), (d)-(iv)
5, (@)-(id), (b)-(iv), (0)-(i1), (d)-(1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

;
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List - I, List - II -000] ¢210)o als] ¢oldde)id.

List - I List - IT
(2oym) (@M afleomo)
(a) anyoomilad (i) Eeueogd
b) oodWemd®d (i) (Sodlenamd
(¢)  aflonegosnd (iii) @RIl
(d) cuoelwo (iv) yEla eafladlnigaldmny

apRQlle @MIEIRINOW ¢old®D QU@ @loaaTmSHe .
Options :

;. (@)-(iii), (b)-(@), (c)-@v), (d)-(i)

,, (@)-(0), (b)-(iii), (c)-(iv), (d)-(ii)

5, (@)-(1), (b)-(1), (¢)-(id), (d)-(iv)

. (@)-(iii), (b)-(iv), (¢)-(i1), (d)-(3)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

;
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(4)
The compound ‘A’ is a complementary base of in DNA strands.
Options :
1. Guanine

, Adenine

3 Cymame

4. Uracil

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0
H,C ‘ N i
T&
H
(A)
DNA mijgodbauwjanglad mowjdmo ‘A’ -6} Geaog /Il eonimy moe

Options :

,
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Chemistry Section B

Section Id :
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Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
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Question Shuffling Allowed :

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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The density of NaOH solution is 1.2 ¢ cm ™. The molality of this solution is m,
(Round off to the Nearest Integer|

[Use : Atomic masses: Na:230u O:160u H:10u
Density of H,0: 1.0 g em™]

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
a0} NaOH enenfes momm 1.2 g can> @, 50 eowndwles enooeld] @ger

1.

(Bmagsim oJ)tapmvoeyid)
[emegoala momjed : Na: 20u 0:160u H:10u

gaiolodg mosm: 10 g om ™)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA Qcollegedunla



Correct Marks : 4 Wrong Marks : 0

X
The difference between bond orders of CO and NO® is 3 where x= . (Round

off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

CO -pajjo No® 6w eonioae godauclad 9eg aujmomo % a6, nales

(pmagsiom ojdanmosyalad)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

,
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For water at 100°C and 1 bar,

Avap H—Avap U= X1 J mol~L (Round off to the Nearest Integer)

[Use : R=831] mol 'K~ ]]

[Assume volume of HyO(l) is much smaller than volume of H,0(g). Assume H,0(g) can be
treated as an ideal gas|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
100°C 210 1 bar -2ljo 688 geiolm)

BopH-dp U= X10*] mol "L

(pmagsiom oljbenmosyela)

[R=831] mol ! K~! agym gosewocdlanyes,|

[H;0() -6 cioao HyO(g) -6xi Lo ormmdnwd cugen e.alomonen demjd. H0()
-6m &) eoatn om0 widnmianio agmy el

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

,
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

146 g of a biopolymer dissolved in a 100 mL water at 300 K exerted an osmotic pressure of
242x1073 bar.

The molar mass of the biopolymer is x10* g mol ™., (Round off to the Nearest

Integer)
[Use : R=0.083 L bar mol~! K~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
&0} 0% coogladlen) 146 g 300 K moaloflawied soj 100 mL gawio awlajealocd

242x107? bar gomieaods adco o.leon

opgn salogladled eaosod ooms x10* ¢ mol ™ men’
(pagsiom aljdanmosyaled)

[R=0,083 L bar mol ' K]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText .
collegedunias



Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

PCl; = PCL+Cl, K.=1.84

3.0 moles of PCls is introduced in a 1 L closed reaction vessel at 380 K. The number of moles
of PCly at equilibrumis _ X10~ 3, (Round off to the Nearest Integer)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

PCy = PCL+Cl, K =1.844

380 K -a 3.0 emodd PCl; 1 L (oud@mm alo@amleads adboams) o).
mmjellmocmunalad PCL; -of caogibales agago _ x107° @en’
(dmIgSIeMm ol Bepmvosy)iiad)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1 ,
Qcollegedumas
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The conductivity of a weak acid HA of concentration 0,001 mol L™ is 20x10™Sem ™, If

A:n(HA):19[]8{11‘112 mol ™!, the ionization constant (K,) of HA is equal to
x107C. (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

aytenuel @il HA-@jes 0.001 mol L1 -wonvmwgs eowmas 20x107>S cm™?

dabwdslalglolee. Ay (HA)= 1905 cm? mol™" @ppsme]d HA-0}9s @0ewo-
opememad mudoogmo (K.) x107° -emos’ @os)emoen

(pmagsiom ojtanmosyulad)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

,
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Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CO, gas adsorbs on charcoal following Freundlich adsorption isotherm. For a given amount
of charcoal, the mass of CO, adsorbed becomes 64 times when the pressure of CO, is doubled.
The value of n in the Freundlich isotherm equation is %1072 (Round off to the
Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(anensellagf @oaicmuodeniatiad agiemosmo ¥l CO, om0 2 10deHog]w @oalemoden
MOHIM). B0} (emid Braa alodehogln, CO, -o@ adgo HaglwoHslwom
mwemde aigalsim CO, -0 @e8A 64 AS@BIN0. (aneMERflad
aagemocmddon macaoild n-of ale _ x10-2 @oan

(dmagsiom ajdenmoeyaiia)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

,
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of geometrical isomers possible in triamminetrinitrocobalt (If) is X and in
trioxalatochromate (III) is Y. Then the value of X+Y is :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
apemoald ansnameseamong (I -0 688 6ZANSANM HafEMeRO)EEIAS

af)o X 90 6(ERIBIVEIER) eddeay (1) -t Y go @oe. agmodd X+Y -wjes alle

(oM,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
In gaseous triethyl amine the “~C~-N-C-" bond angle is degree, Qcollegedunias



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

comd e eaLnm @ealmlad “~C-N-C-" eauoaelan eamomaal
@08,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An organic compound is subjected to chlorination to get compound A using 5.0 g of chlorine.
When 0.5 g of compound A is reacted with AgNO, [Carius Method], the percentage of
chlorine in compound Ais _ when it forms 03349 g of AgCl. (Round off to the
Nearest Integer)

(Atomic masses of Ag and Cl are 107.87 and 35.5 respectively)

Response Type : Numeric

Evaluation Required For SA : Yes .
collegedunias



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

60} H9%A Mow)dmo 5.0 g 60l palewadaf egradlemanm allewwaswen o

Mowjdo A eidlaf). 0.5 g Wowdmo A AgNO, -wjaoul (udared.gjeajod [Carius

Method], 0.3849 g AgCl pensoplad A - 9 egodlag vomezomo @pen .

(pmagsiom oljtapmosyulad).

(Ag -wpsw)o Cl -arhwlo @enotla namdd Lo 10787, 35.5 agmilouwoen ).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

1

SectionId :
Section Number:

Section type :

Mandatory or Optional :

Number of Questions :

Mathematics Section A

864351828
5

Online
Mandatory
20

,
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Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511055
Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let Pand Q be two distinct points on a circle which has center at C(2, 3) and which passes

through origin O. 1f OC is perpendicular to both the line segments CP and CQ, then the
set{P, Q} is equal to :

Options :

1. {(2+242,3 +5), (2-22, 3 - \5)]

, {(2+242,3-45), (2 =242, 3 +5)}
, (=15, 6, 1)

. 1,0), 0, 6)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C(2, 3) eamaow, O awoeslaallayes dsmjsalodim 6o} yemenles e
ymmim allajangoem’ P, Q agarla. CP, CQ agm! eoauosuembemdas” OC

Blogniaonamesla, wamo {P, Q) agma :

,
Qcollegedunlas
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Options :

(2 +242, 3 +45), (2-242,3 - \5))

2 {(2 +242,3-45), (2-242,3 +5)]

, {(-1,5), 6, 1)

, 14,0, (0, 6)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e N A A = A A A
leta=1i+j+2kand b ==i +2j +3k. Then the vector product

(;+§)x ((;x ((;—;)x g))x E) is equal to :

Options :
A A A
: a\M i —=By +7k

M M M
5 0 —By 4Tk

A A A
3 I\ —fy 43k

A A A
A 33 —51+3k

,
Qcollegedunlas
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— A A A A A A

a=1+j+2k, i +2] + 3k @OIM) afshled, OUHSH OloWS

(;+g)x((:x((:—g)x§))xg) ag)ma) :

Options :

M M M
a\M i —=By +7k

A M M
5 2\ =By +7k

A A A
3 I\ —fy 43k

A A A
A 33 —51+3k

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11 11
If the coefficients of ” in (xz - bi] and 17 in (x - bLZJ b # 0, are equal, then the
. X T

value of b is equal to :

Options :

. — 1

,
Qcollegedunlas
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(r+]
b

(nysmommanLo b 0 mjeeoameld, b @)ns ajeo:

11
agmallad, »” -6 vesmammecuo

by?

Options :
1. = 1

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If the area of the bounded region

sx<2

R ={(x, y) :max{0, log.x} < y < 27, %

is, a(log,2) ~ +p(log,2) +7, then the value of (a+p~ 2v)? is equal to :

Options :

L
x——] agmalld x~7 - o

Qcollegedunla
.................................



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
R =1, y):maxf, loger} < y < 27, = < x <21 edamalanym aooulod] asngjaal
a(log2) "'+ B(log2) +y @aemEld, (a+p-2y)* -6 aleo:

Options :

1. 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

,
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1 2 |
Letﬁi{_1 J. If A=1=al+pA, o, B eR, [is a 2x2 identity matrix, then 4(a~p) is

equal to:

Options :
1. 2

2.4

w| oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

12
A{ oo™} A~'=al+BA, o BeR, (Tagma 2x2 angrunfld aosl)

-1 4

oA, 4(a-B) agrma :

Options :
1. 2

2.4

w| oo

4,
,
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from the point P(~1, 1) to the circle h-2- oy+6=0. If
these tangents touch the circle at points A and B, and if D s a point on the circle such that

length of the segments AB and AD are equal, then the area of the triangle ABD is equal to :

Options :

1. 2

2.4

, (342 +2)
. 32 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P(-1, 1) agom snflesjalad oo’ ¥2+y2-2x-6y+6=0 agm cujomanfeaids’ oams)
OMISICUORA auewianm),. 59 amasiUadd cjmmanad A, B agol sllmjsengled
i ifodlanym). AB, AD agyrri @ocnemach miemodmd allwenlad o emenad D agm

ey onanesiad, (@flesoamo ABD a6 mdsacujom agyma ;

Options :
1. 2

2. 4

,
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, (3V2 +2)

. 32 -1)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let C be the set of all complex numbers. Let

S;={z e C| |z—3-2i*=8},

S,={z € C| Re(z) =5} and

S;={zeC||z—-Z|=8}.

Then the number of elements inS; NS, N S; is equal to :

Options:
1. 0

4 Infinite

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

,
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C oM@ GHOog | MIOEUIHEOEM
S,={z e C| |z—3-2i]>=8},
S,={z € C| Re(z)=5},

S,={zeC| |z —-Z|=8}.

a)BI, S; NS, NS; OR BOOWETRAIOS ag)eMo:
Options:

1. 0

4. @REMEH0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the plane passing through the point (-1, 0, —2) and perpendicular to each of the planes
2t+y-z=2and x-y-z=3 be ax+by+cz+8=0. Then the value of a+b+c s equal to

Options :
1. 5

;
gcollegedumas
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(=1,0 -2) agom enllaygallenss esemyealodimmo 2r+y-2=2, 1-y-z=3 agm
MEETBCAS LloAnI)R0 06R) MR ax+by+cz+8=0 agymal. agmld, a+b+c
RS D)o

Options :
1. 5

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
2

e [—

Let , B be two roots of the equation x* + (20)4 x + (5)

Options :
., 100
> 10

3 50

4 160

= (). Then o® + p%is equal to

,
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
2 l l w u u u
-+ (200 v+ () =0 agm macodymilan) oms o5m @oen « @) p @) afld,

o + 8 agf)ma
Options :
, 100

2. 10
3. 50

4 160

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: (—E; EJ — R be defined as

3a
|sinc|

(1+[siny) ,-=<x<0

flx)=" b , x=10

T T
ecat—h/mth < y< =

F)

If fis continuous at x =0, then the value of 6a +b?is equal to : .
Qcollegedunlas



Options :

1 1+e
, 1—e
3. €

g €1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I [—E, EJ - R g™ an6daud

s
|sinx|

(14 sind]) , —— <x<0
_ _
flx)= L ag)m adldalaflafldlenimy.

. . T
emt4x/c0t21 C0<x< 1

fagma x=0 @ sendmyalm epeemelad, 6a+b? e&m aelo :

Options :
1 1+e

2. 1_e

,
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let

A={(x, y) e RXR | 202+ 2y2-2x -2y =1},

B={(x, y) € RXR | 4x*+4>—16y+7=0} and

C={(x, y) e RXR | x2+1?>—dx -2y +5 < 12}

Then the minimum value of |r| such that A u B c Cis equal to :

Options :

3 410
1. 2

, 1++/5

2 + 410
3. 2

3425
4. 2

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

,
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A={(x, y) e RXR | 224242 -2x -2y =1},
B={(x, y) e RXR | 42 +4y*— 16y +7=0}
C={(x, y) e RXR | 22 +12—4x-2y+5 < 12} @OHM)

A U B ¢ C eoaaasnalwemia |r

-0 @I HOBTD DYelo :
Options :

B 4 10
1, 2

, 1+4/5

2 4-J10

3. 2
3 +245
4. 2

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the mean and variance of the f-;;]l-;;wing data :

6, ). 7,13, a,12, b, 12

are 9 and o respectively, then (a—b)2 is equal to :

4
Options:

1. 16

2 12

,
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3. 24

4. 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6,10,7,13, 3,12, b, 12 ayom ag@}es oondlw) et oo 9, %

opeemEId, (a-b)> agma:

Options :
1. 16

2 12
3 24

4. 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d
Let y=y(x) be solution of the differential equation log, [d_l/} =3y + 4y, with y(0)=0.
X

2
If y[- 5 10592} = o log,2, then the value of o is equal to :

Options :

1. .
Qcollegedunlas
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e | =

N
e

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y(0)=0 o® log,

day] =31 +4y agm alanomdayed muacuodjmmlan aidanoemoa

2
y=y(x). y[- 5 Ioge2} = o log, 2 mpwond « @S Mo :

Options :
[

. 4

N
e

,
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 1
If sinf + cos6 = 7 then 16(sin(26) + cos(46) + sin(66)) is equal fo :

Options :
1. 23

2. =23
3, 27

4. —27

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 ”
sinf + cosf = Efﬁ@m}amﬂ 16(sin(20) + cos(46) + sin(66)) ag)mM® :

Options :
1. 23

2. =23
3 27

4. =27
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The probability that a randomly selected 2-digit number belongs to the set {ne N : (2"~2) is
a multiple of 3} is equal to

Options :
1

. 2

N
WM QI | =

S| b

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
00610 ag)SANNM MANEAR (Moo6dh(d

fn e N : (2"-2) agymal 3- o) wjemimo} agm wamana edaaisomes mwowjm :

Options:

,
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WM

o I

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A ray of light through (2, 1) is reflected ata point P on the y-axis and then passes through the

1
point (5, 3). If this reflected ray is the directrix of an ellipse with eccentricity P and the

distance of the nearer focus from this directrix is ﬁ, then the equation of the other directrix
can be ;

Options:
2x—7y—39=0 or 2x—-7y—7=0

1
1Ix+7y+8=0 or 11x+7y—15=0

2.

3 2x—7y+29=0 or 2x—-7y—7=0
11Ix—-7y—8=0or 11x+7y+15=0

4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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2,1) agm enllmileyes dsomyBalodiom (udsondsogmo i eedemlon P oo

aeflanlan)emio ciatio (5, 3) e enlmjalleyns &smiGalodid®jo QM)

1
(aonellangin g dloamo, agasnmadiglmi 3 @0 Altealouyemmiacg oSk,

000 WOSlmia allmi @osjom easodnmileeianss 6)00 \/_ B0 MOAAMERIM,

([0S0 WOOHSBMIRNNG VR0 @RI :

Options :
. 2x—7y—39=0 @egssl@d 2x —7y—7=0

_ 1lx+7y+8=0 @oog@a® 11x+7y—15=0
N 2x—-7y+29=0 mmm%mﬂm% 2x—7y—7=0

, 1x—=7y—8=0 @oegead 11x+7y+15=0

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The compound statement (P v Q) A (~P) = Q is equivalent to :

Options:

~(P=Q)

1,
2, PA~Q

~P=>Q) & PA~Q

gcollegeduma
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2 PvQ

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
PvQ) A (~P) = Qagm MoW}sm (InmIMHS) MIEND0QM :

Options :

 ELPE)
5 PA~C)

L “P=Q)&SPA=Q

2 PvQ

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f: R = R be a function such that f(2)=4 and f'(2)=1. Then, the value of
-4

lim = /% 7/ s equal to:

12 -2

Options :
1. 4

2. 8

3 12

,
Qcollegedunlas
||||| 's largest Student Review Platform



4. 16

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
f2)=4, f 2)=1 @00 &) adedasmoan f: R - R aglad, lin‘é &—;ﬂx) agmadlang
I= X=-

mgego !
Options :
1,4

2. 8

3 12

4 16

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.1 & (2j—1)+8n
lim —
The value of Im Z (27 —1) +4n

is equal to :
n—ece Il

7=1
Options :

3
5+ loge | =
3+ e(s)

,
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142 log: [%}

3+ 2log, [E]
4. 3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
.01 & (2j—1)+8n
n—co 1N

=1

Options :

3
34 —
1. Dge[zj

142 log., [gj

2
2 —log.|=
el

3> +2log, [%)

2/ —1) +4n agMaiion mlelo :
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The value of the definite integral

Jr

4 dx

J XCOSXY (oind 4.
_1;_(1+e ) (sin”x + cosx)

is equal to :

Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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exadlallg 0w

4 dx
J

(1 + e™°%%) (sinx + cos®
4

x)

ag)MEfleg melno

Options :

Mathematics Section B

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

864351829
6

Online
Mandatory
10

5

20

,
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Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Sub-Section Number : 1
Sub-Section Id : 8643511056
Question Shuffling Allowed : Yes

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let a plane P pass through the point (3, 7, —7) and contain the Iine,

=2 _y=3 z+2
o

. If distance of the plane P from the origin is d, then d? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
P af)m @eo (3, 7, -7) ag)m ET]ﬂﬂBgOﬂEIQB)S dHSMN)GlIdhldhWjo

¥+2  3-3 2
Y_S = yz - Jlr ag)™m 606 HREANBRIAWI0 H.21gM}, ARwIRsim dm
P agym memmleanian 6jto d moeamalm, d* @A,

Response Type : Numeric

Evaluation Required For SA: Y .
aluation Required For SA : Yes collegedunias



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

si112

Let f(x)= |2 + sin

sin2

Then the maximum value of f(x) is equal to

X
2

s

Response Type : Numeric

X

-2 + cos

C052 X

CDSZ X

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2

X

cOs2x
cOsS2x

1+ cos2x

, x € [0, w].

,
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siny =2 +4cosx  cos2x

f(x)=[2 +sin®x  cos®x cos2x |, x € [0, ]. @RI,
sin’x cos’x 1+ cos2x

ag)BI@, f(x) - 60} alemocdwl] melo @R,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let F: [3 5] - R be a twice differentiable function on (3, 5) such that

Fr)=¢ ™ E(3t2 42t + AP,

0P - 24
-9

If F(4)= then a+ is equal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
Qcollegedunla



Question Type : SA
Correct Marks : 4 Wrong Marks : 0
F: [3,5] - R agma so} cajmasm wlanomdayenild anedasmosm (3, 5).

Fx)=¢ ™ j;'(atz +2t+ 4F(t)dt @R}

P - u
F'(4)= W ARG, at+p ag)Mma BRI,
e -
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- !\ A A= - A A it ¢
Let a=i1+j+k band c=j- be three vectors such that 3 x b = ¢ and

5 - 5 5
a b =1. Ifthe length of projection vector of the vector b on the vector a X ¢ is/, then

the value of 3% s equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
. Qcollegedunias
Possible Answers : S e AR - -



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- A A

- 5 9
d

Aleomasd exusslan nlgo | mpaamesl, 32 ag)may

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the domain of the function

f(x) =logy (lﬂgs(lﬂgs (131 —x* - 77))) be (a, b).

Then the value of the integral

J;b sin® x Py
(sin’x + sin®(a + b — x))

is equal to

Response Type : Numeric

3 3 o

AD oA
a=i+j+kDb, c= kag)wrﬂmmgmam&asogﬁagoammmﬂm%, a X b=c Q

-§=1Qo MO, a X ¢ af)m egolema b af)m aASH MM
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

flx) =1logy 1085(1083(1895'352 '77))) oM agesaar) oambRo (2, b) BOEM),
sin’ x i u
0@%%%’ a (sin3x + sin3(a +b- 1)) ogm @r@m&ﬂmf@ Bjho @pen.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

, o7
It logs2, logs(2*~5), log, (21 = E] are in an arithmetic progression, then the value of x is

equal to

Response Type : Numeric

Evaluation Required For SA : Yes .
collegedunias



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

log,2, logy(2-5), log—_.;(f—%] oo mame epelald evaamasld, x o

Oeljo @,

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For real numbers « and B, consider the following system of linear equations :
xty-z=2, x+2y+oz=1, 20-y+z=4
If the system has infinite solutions, then a+p is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
, Qcollegedunia;
Text Areas : PlainText —UT S, - S — m



Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
coallw mosljdd o, p aiias M09 AmIS)EMIAEM coalw MAMIH)mG

addloerlania.

y+y-z=2, x+2ytaz=1, 2c-y+z=p.

o) @roleldlmemgow @eemdo aldanotsmd oamasm, a+p agmid
@6,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

LetS={1,2,3,4,5, 6, 7). Then the number of possible functions f: S - S such that
f{mn) =f(m)f(n) for every m,n e Sand m-ne Sis equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
Qcollegedunias



Question Type : SA

Correct Marks : 4 Wrong Marks : 0
5={1,2,3,4,5,6,7) @) ag@d, f(mn)=f(m)f(n) m neS casomalomin

0WROW a0edatd S -5 S BAIOS oo BOA.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

It y=y(x), ]/{0, %) is the solution of the differential equation

dy . , . (7).
sec y&j ~ sin(x +y) - sin(x - y) =0, with y(0)=0, then 5y ik equal to .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

y(0)=0 @O sec y% - sinfx + ) - sin(x - y) = 0, oM allanoraryd acEdad]

aJdln000006m y=y(x), € {Of g gl Sy’g] af)me @A,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let f: [0, 3] = Rbe defined by
f{x)=minfr-[x], T+ ] -x]
where [x] is the greatest integer less than or equal fo x.
Let P denote the set containing all x € [0, 3] where fis discontinuous, and Q denote the set
containing all x € (0, 3) where {is not differentiable. Then the sum of number of elements in
P and Q is equal to :
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

,
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0
f:10,3] = R ogma f(x)=minfr-[x], 1+[x] -2} agym ofdeuad ofdaymy. ol [+]

agmal x emas meyea0 el d0emmeno W HWAM aljdanruosywosr.

f aflmigerdlngoscny @y v e [0, 3] o2, x &glns camaoan P. f alaoodaemidd
@00 X € (0, 3) -H8 x &8)65 emasen Q. aglad, P, Q agrlaiwleigs meonsmsglns
agepaion) i 08T

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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